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f<��� <��( F}/ �$ f
�'�	���� m−� �5��@� K� �$ +�C�� <��� ?��( 
�'�I�# ���A �� �( .��
�( 
�� ��W�� h<���5 �$ <���'�� �� �#��W$ �I�# "
7�$'��# ��}> <�-�� +���� ;�@#� �"� �� �( <��,#*

7�$ ẋi = Z (∀t) �#��W$ �I�# �� �0� f��� �$ 2��5 ". �0 �u# �� .�� 2
7 �G)[� �I�# K� ��
�( .�� +�C�� �� ����-� h8��3 xi(t) = ai (∀t) E.�� �	���� 8��3 �$ T�$�� �#��W$ �I�# 2�G#*
.�� �-�� f��3� ��� �$ "��$ 
���& y(t) �= a (∀t) f
7�$ 6����� �$��3 y(t) �0� � f��}0'�� a ��
� 8Q�3 fO���� h8��3 .	�/ ��� �� E
��( 1�� �	���� .	�/ �$ ��'8��3 �� �c�$ t → ∞ 
��$ �(
�0� ��7'�� 2
���# X .[H� 8Q�3 x = a ∈ R

m �#��W$ �I�# K� f��'4�~� 9��k �$ "��7 �� 2
���#
1�� x → a f t → +∞ 
/ �� �( 
7�$ ��7�� ��3� x(tZ) �I�# f a �I�# Ωa ⊂ R

m �G��C�� ��
2��$ �� x = x(t) 8��3 �0� ".7�� +����& � �B�� h8Q�3 f
�( 1�� a �$ x � t → −∞ ��~� "
�(
���~�$ x(t) = x(t + T ), (T ≥ Z) �( ��7 g���� ����k �$ x(t) ∈ D ⊂ R

m ������ �$ I ⊂ R

. ���� <���'�� x(t) = x(t + T ) �� "��7'�� 2
���# T 
'2��� �$ \ 
�'2��� h8��3 x 2�G#* f
7�$
�3'<* �� f +�C�� �� 
�c �� �0 �u# �� �$ ".�� �W�Wk �
5 �� n <* �� �( f x(t) = x(t±nT )

f
#��0'�� �� 
��7�� tZ �� �( 
������ 2��$�� tZ + T <��� �� x�, xX, ..., xm 
�'2��� 8��3 
��$ �(
yJ��& �� 2��B��� �$ "��7'�� l _ �&�A ��m ^ ��C$ �� ��W�� `3�� 
�'2��� 8��3 �( +���0'�� �@��#
�L���� �#�C-� �� y��W�� �$ 2
7 2��� O���#� h8��3 ��
�A �( .���/ ��� � 1��C� 
��'+�C�� hO���#�
+�C�� fO�H� 
��$ ".�� �L���� 
�'2��� 8��3 K� �$ ��C$ h�� ��W�� �� ��( ��� <�%# <���'�� f
��C�
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�
���G$ �u# �� �� ���

ẋ� = xX, ẋX = −x� l\"�m

2��� �$ 
�'2��� �$��3 x ≡ (x�, xX) 
��$ � 
��C� ��� t � ��� t �� �I& 
��'`�(�� ��'8��3
�$ \"� 1�
[� �$ �� 
��'��W�� "+���� T = Xπ

dxX
dx�

= −x�
xX

l^"�m

�.7�� +����& ^"� �� 
��0'O��G�#� �$ "
��*'�� .�
$

xX� + xXX = const. l_"�m

"
��C� 6(��	�
W�� 
��'2���� �� 
��'��W�� fO�H� ��� ��

�#��W$ �I�# �( .�� ��-7* a, b ∈ R � xX = −a���t + b���t f x� = a���t + b���t ��
+���G$ �u# �� �� ��� +�C�� �0� ��5 �� ".C�# 8Q�3 x� = xX = Z

ẋ� = x�, ẋX = xX lY"�m

�� 
��'��W��

dxX
dx�

=
xX
x�

l!"�m

�� 
��'��W�� +�C�� ��� �� "xX = αx�, α ∈ R .7�� +����& 
��0'O��G�#� �$ � ��$ 
����&
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�( 
��: �$ 
��*'�� .�
$ xX = cXet � x� = c�et "
#�}0'�� �
[� �� �( 
��C� � �k 
��'N&
?��6 � �$ �� �� T��# .(�/ .)3 1-7 <��� 
��'<�-�> ".�� �B�� �$Q�3 (Z,Z) �	���� 8��3
�L����m�� 
�� ��W�� �� 
�'�5��@� |�: � ��7'�� 2
���# � �� <���3.(�/ ��� "
���'�� <�%# <���

"
���#'�� X �� 2���> �� l9��B�� ��	�� N���7 �$

d8e dg	�e
"Y"� +�C�� �� 2���>d8e f \"� +�C�� �� 2���>dg	�e ��"� 1-7


��'�B	�� ��$ �I$�� �"� +�C�� �� 
��0'O��G�#� �$ �( .7�� ��3� <�-�� ��� f
7 ����� �( �	�H� �� ��

�('�� g���� �� 

�$ m �� 
�c �5��@�'��� f

�$ m−� 
	�B��� K� �I$�� ��� "��( �
�> �� x
�( �� ��$�r ���� jI� ��� "
�('�� �]%� x�, xX, ..., xm �� ��$�� 9��k �$ �� � .$�r ���� �jI� �

9��k �$ <��� �� �R( .	�/ ��

F (x�, xX, ..., xm) = const. l�"�m
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f�R( ��:'�$ "
���#'�� ẋ = X(x) +�C�� X O�� O��G�#� �� F (x) i$�� � � O��G�#� 
	�B��� f��� <�%#
�� �-� ��
��� �� �0� +���#'�� ẋ = X(x) +�C�� O�� O��G�#� �� F (x) ��}>'4�%� � ����/ i$��

���� f
#��$ .$�r +�C�� 
��'8��3

dF

dt
=

∂F

∂x�
ẋ� +

∂F

∂xX
ẋX + ...+

∂F

∂xm

ẋm = Z l�Z"�m

�@��# �� "��7'�� +�C�� t���� �� �� 
�c ���$� �� �� ?��( �5�$ O�� O��G�#� K� ��3�
�$ f+�
�� �( 
���� �� �� "
��C� 

�$ m − � 
	�B��� ��� �� ����'�5��@� ��� f�� 
��'��W��

"
#
7 4[I�� O��G�#� 
	�B��� �$ �� 
��'��W�� f m = X

.$�r `���p �$ �I& 
��'+�C��m
#��$ 2��� ���C$ +�� �0 �u# �� �@��� �� �( ����'O�H� �( ���3'<* ��
�-�� O�� O��G�#� �� 2��B��� �$ +�C�� �[��� <��( +( ���> �$ 
��0'O��G�#� z�� f l Y"� � \"� 1H�
����$��$ f.�� 
���p ��'2
�,�> ����� �� fO�/ ��� �$ "
��$ �u# �$ 
��0 �> � .�� z�� .��
��: <��� "
���G$ �u# �� �� f������ �G#���# f \"� +�C�� ".�� 
��7��� ?���'��$��( j�p��
� xX = ẋ = A���(t + φ) � x� = x = A���(t + φ) 9��k �$ <���'�� �� 8��3 f+�#��'�� �(
�C��#��$ ��� 9��k �$ �� '<* �( _"� O�� O��G�#� �� ".7�# φ = ������(a/b) � A =

√
aX + bX

+��('��
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X(xX� + xXX) = I� l��"�m
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�+���*'�� .�
$ \"� �I$�� ���C]# �� �

dx�
dt

= ±
√

XI� − xX� l�X"�m

+���*'�� .�
$ 
��0'O��G�#� �$ �(

∫
dt = ±

∫
dx�√XI� − xX�

l��"�m

����

t+ IX = ������( x�√XI� ) l�\"�m

.7�� +����& �\"� <��( t�-�� �$ ;�@#��� ".�� 
��0'O��G�#� .$�r IX �I$�� ��� ��

x� =
√XI����(t+ IX) l�^"�m

".�� 4[I�� 
7 �(Q ��� �� ?�> �( �$��3 �$ 2
�* .�
$ 8��3 f
7�$ φ = IX � A =
√XI� �0�

+����& ẋ�(Z) = ẋZ� � x�(Z) = xZ� �0� E
#�7'�� �]%� ��	�� N���7 �$ 6�# 
��0'O��G�#� 
��'.$�r
�.7��

I� =
�
X(xZ�)X +

�
X(ẋZ�)X =

�
X(aX + bX), IX = φ = ������xZ�

ẋZ�
= ������a

b
. l�_"�m

���7'�� �R/�� ��)A 1��7 +���( O�[#� �( 
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7 �
�> .(�/ O��G�#� N��� +�C�� �[��� <��� ?��( l8

E�� �� ?��( +�C�� �� 
��0'O��G�#� l�

"8��3 <���* .�
$ � <��( t�-�� l9

"+���� ���# O�� O��G�#� m− � �$ m �[��� +�C�� K� �� j��k 
��0 O��G�#� 
��$ f�( .�� �)�
$

x�, xX, ..., xm �� ��$�� N� �( +���$ �� �0 �u# �� �� O�� 
��'O��G�#� N� O�/ �$ �� �"� g���� 4[:
�G�C$ +� <��� �$ �( 
#��� ��3� ����'O��G�#� 9�~�� �c�$ fO�/ ��� �$ "
#��[# t <��� i$�� � 
#��$
�� ���� �#���# .(�/ K� �( .�� ���C�� ��'O�H� ����)$ �� �-� q�p�� ��� j�p�� 
��$ "
#���

�
�('�� g�k��

ẋ� = xX, ẋX = −x� − λxX, l�Y"�m

���$ 
���& ��� 9��k'�$ O�� O��G�#� ".�� .[H� .$�r K� λ �( ���3

eλt(xX� + xXX + λx�xX) = I� = const. l�!"�m

".�� ��C$�� <��� �$ .(�/ O��G�#� ��� ��7'�� 2
��%� �( ��I#��� �


��$ �� �Y"� � \"� 
��'+�C�� 
��$ ��� f���
# .�$�}3 �� 
��$ �Y"� +�C�� ���� �� �W$ �����
"����C��>'�#� � ����C��>� 
��'+�C�� ��$9��B� �+��( 2��B���.�� +)� �R�& �(
�'

�$'2��0 ���$'?�>
ẍ = −x− λẋ � ẍ = −x �$ `���� �$ 2
7 �(Q +�C�� �� f+��� ���~ xX = ẋ� = ẋ � x� = x �0�

�( +���#'�� ���C��> �� ���C�� "
7 
����& O����

ẍ = f(x) l��"�m
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�0� +���#'�� ���C��>'�# �

ẍ = g(x, ẋ) lXZ"�m

�G�C$ <�-� �$ N� � .�� 2
7 �7�# 1�C#��> K� �� �( 
��'�� <�%# �� �����# O�� ���� fK�#�-� ��
��C��> 1( 
=�#� l���C��> +�C��m O�� ���� �� ".�� ��C$�� 6�# .5�� �$ ���# ;�� ���� �� � ����

".��

����B; C�@� ���;�8�
� /A*
x = a �G��C�� �� ��R�� NC$ .	�/ ��� �� f���� �#��W$ �I�# x = a �� X"� +�C�� �( +��( �� 

���$ 
���& ��� 9��k �$

ẋ = X(x, t) =
∂X

∂x
(x, t)

∣∣∣∣
x=a

(x− a) +O(|x− a|X). lX�"�m

"+��'2��( ��6G��3z�'�I&`���� �$ �� X"� +�C�� �� ���� f+���G$ �u# �� �� X�"� NC$ O�� �R�3 �0�
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�,�> +�C�� 8��3 ���� �� 9�5�:� �� �> � ������� f�I& `���� �( 
�� +����& �
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(∂X/∂x)|x=a 9��k'�$ �( f m×m y��$�� ������ f.�� <��� �� 1��C� ���( +�C�� �( ��	�/
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